

August 31, 2020

Laura Jester

Bassett Creek Watershed Management Commission 16145 Hillcrest Lane Eden Prairie, MN 55346

RE: August 2020 Invoice 2020 Bassett Creek WOMP Station Services Wenck File #0647-0013

Dear Ms. Jester:

Attached is our August invoice for the above-referenced project in the amount of \$1,173.30.

Work completed this month:

- Sample planning and coordination
- Routine sampling
- Project management/invoice transition
- Maintenance on autosampler

Anticipated work next month:

- Collect routine samples
- Collect storm samples as necessary

If you have any questions or comments, please call me at (763) 252-6833. Thank you for the opportunity to be of assistance.

Sincerely,

Wenck Associates, Inc.

Jeff Strom Project Manager

Enclosure

Agure bulhunses

Anne Wilkinson Assistant Project Manager



August 2020 Invoice Summary

| Original | Current | Remaining | % |
|-------------|------------|------------|----------|
| Budget | Invoice | Budget | Expended |
| \$18,147.00 | \$1,173.30 | \$9,154.17 | 50% |

| Current Invoice | |
|-------------------|------------|
| Payment Requested | \$1,173.30 |

Invoice

Billing Summary

August 31, 2020 Invoice No: 12005496

Ms. Laura Jester Bassett Creek Watershed Management Commission 16145 Hillcrest Lane Eden Prairie, MN 55346



Responsive partner. Exceptional outcomes.

| | | | | Proje | ct Manager | Jeffrey Strom |
|------------------|-----------------------|--------------------|-----------------|-----------------|------------|---------------|
| Project | B000647-20-013 | 2020 Outlet N | Ionitoring Prog | ram | | |
| Professional Se | ervices Through Augus | st <u>28, 2020</u> | | | | |
| Professional Pe | ersonnel | | | | | |
| | | | Hours | Rate | Amount | |
| Omodt, Nich | olas | | 2.90 | 99.00 | 287.10 | |
| Paquin, Timo | othy | | 3.20 | 64.00 | 204.80 | |
| Strom, Jeffre | ey | | .60 | 148.00 | 88.80 | |
| Wilkinson, A | nne | | 3.80 | 135.00 | 513.00 | |
| | Totals | | 10.50 | | 1,093.70 | |
| | Total Labor | | | | | 1,093.70 |
| Reimbursable E | Expenses | | | | | |
| Mileage - Re | imbursable | | | | 21.85 | |
| | Total Reimbursa | bles | | | 21.85 | 21.85 |
| Unit Billing | | | | | | |
| 00-WAI Vehicle 0 | Golden Valley | | | | | |
| | | | | | | 57.75 |
| | | | r | Total Invoice A | mount | \$1,173.30 |
| | | Current | Prior | Total | | |

7,819.53

8,992.83

1,173.30

| Project | B000647-20-013 | 2020 Outlet Monitorir | ng Program | | Invo | ice 12005496 |
|-------------|--|---|-------------------|---------------|------------|----------------|
| Billin | ig Backup | | | | Monday, Au | igust 31, 2020 |
| WAI - We | nck Associates, Inc. | Invoice | 12005496 Da | ted 8/31/2020 | | 9:59:52 AM |
| Project | B000647-20-013 | 2020 Outlet Mo | nitoring Prog | am | | |
| Professio | nal Personnel | | | | | |
| | | | Hours | Rate | Amount | |
| 1022 | 921 - Omodt, Nicholas field work coordination | 7/27/2020 | .20 | 99.00 | 19.80 | |
| 928 | 931 - Wilkinson, Anne | 7/28/2020 | 3.00 | 135.00 | 405.00 | |
| 272 | womp routine monitoring 932 - Strom, Jeffrey | and maintanence 7/30/2020 | .60 | 148.00 | 88.80 | |
| 373 | Invoice review and prepa updates. | | | | 88.80 | |
| 928 | 931 - Wilkinson, Anne invoicing | 7/30/2020 | .80 | 135.00 | 108.00 | |
| 1022 | 921 - Omodt, Nicholas Field work prep and coord | 8/10/2020 lination with MCES | .20 | 99.00 | 19.80 | |
| 1022 | 921 - Omodt, Nicholas WOMP | 8/11/2020 | 2.50 | 99.00 | 247.50 | |
| 1165 | 901 - Paquin, Timothy WOMP Monitoring/Prepera | 8/11/2020 ation | 3.20 | 64.00 | 204.80 | |
| | Totals | | 10.50 | | 1,093.70 | |
| | Total Labor | | | | | 1,093.70 |
| Reimburs | able Expenses | | | | | |
| - | Reimbursable | | | | | |
| EX 000 | 0000041970 8/11/2020 | Omodt, Nicholas / WOMP Monitoring @ 0.575 | | | 21.85 | |
| | Total Reimbu | rsables | | | 21.85 | 21.85 |
| Unit Billir | ıg | | | | | |
| 00-W | AI Vehicle Golden Valley | | 77.0 | Miles @ 0.75 | 57.75 | F7 7F |
| | | | | | 57.75 | |
| | | | Project To | | Total | \$1,173.30 |
| | | | Total this Report | | | \$1,173.30 |